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1 |BepasiHcbka 6 6 1 5 6
2 |BacuiiBcbKka 5 1 4 1 4 5
3 |Besnkogino3epcbka 4 4 4 4
4  |BecexdiBchka 2 2 1 1 2
5 |BinbHsIHCHKA 22 18 4 1 6 15 | 13 9 4 9
6 |Iyasiiimiabcbka 7 4 3 6 1 7
7 |3amopi3bka 3 3 3 3
8 [K-[nimpoBcbka 6 1 5 1 4 1 6
9 |KyiiouimeBcbka 6 6 3 3 6
10 |MeaiTonoyibebka 7 1 6 1 1 5 5 2 2
11 [MuxaiiniBcbka 7 3 3 1 2 4 1 6 1 1 1
12 |HoBoMukosaiBcbKa 3 3 1 2 3
13 |OpixiBcbka 3 3 2 1 3
14 |HoxaoriBcbka 5 5 1 4 5
15 |Ilpua3oBcbka 2 2 2 2
16 [[pumopchka 6 3 3 4 1 1 4 2 2 2
17 |Po3iBchka 4 4 3 1 4
18 |Toxkmanbka 5 1 4 4 1 5
19 |YepHiriBcbka 4 2 2 2 1 1 4
20 [SIxkumiBcbka 3 3 3 3
BCHOTI'O: 110 34 | 75 1 0 0 13 1 59 | 38| 96 | 14 9 0 14 0 0 0




